ITANEAAAAIKEY EEETAXEIY 2017

TPITH 13 IOYNIOY 2017
EEETAZOMENO MAO®GHMA:

OIKOAOMIKH
ENAEIKTIKEY AITANTHXEIX

AITANTHXEIX XTA OEMATA

OEMA A
Al a. A

B. X
v. A
o0. A
€.
A2. a3,/BS5, v4,01

A3 ogh.57
A4 cek. 42

OEMA B

Bl. celh 21

B2 ceh 310

B3 oei. 60 ToOmor koviapdtov B
B4 ceA.280

B5 cel.91.

OEMAT

I't aocer313p314
I'2 cel. 24
I'3. ceh. 59
4
H= p.v d&pa v=H/p=2,52u/14=252/14 ex.=18 ¢x.
Am6 10V kKOovOova tov PBnuaticpuod  2v+tm = 64 ex

Bpiokovue 10 @
= 64-2v=64-(2X18)= 28¢x.
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ApOudc matmubdtov pu=p-1=14-1=13
Apa L=puXm = 13X28=364 cx=3,64
OEMA A.
Al guPadodv meplueTpikOV TO0iY®V
Et =(
10.00+6.00)X2X3,20=32.00X3.20=102.40 p2
Eupaddv avorypatov
Ea=(2.20X1.50) + (2.20X1.00) +
(1.00X1.00)X2=7.50 p2
Eupaodv dralopatoc( oeval)
Ed=(10.00+6.00) X2X0.20= 6.40 n2
Evn=102.40- ( 7.50+6.40)= 88.50u2
Ap1Oudg tovPAov 88.50X150=13.275 tovPAra
Ovyxoc¢ xoviapatoc 88.50X0.055=4.87 u3

A2 Eum=102.40-7.50=94.90 12 ( c@orpovviar Lovo
T0 eLBAOOV VOlYLAT®OV)

Ovywog appev Vo= Evn.X0.02=94.90X0.02=1.90u3
Ovyxoc acféotn V= Vo X0.40=1,90X0.40=0.76
u3.

Oyxog VEPOL Vo= (VpX0.14)
+(VkX0.16)=(1.90X0.14)+(0.76X0.16)=0.39u3
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